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The following is a challenging extension task:
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Extension

- Does the longest word have the largest value?

« Does the shortest word have the smallest value?

- Create a mathematical word which has a bigger value than any of the words in the list.
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The Broken Calculator

Instructions

« Both calculators are broken and most of the buttons have fallen off.

- Using the buttons that are left over on each calculator, how could you make each of the numbers below?

You don't have to use all the digits and you may use each number more than once.

Calculator 1 Example
How could you make 26?
23+3=26
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Calculator 2

Example
How could you make 3?
120:20=2=3

© How could you make 67

© How could you make 42

) How could you make 72

© How could you make 52

© How could you make 122

© How could you make 62

@) How could you make 10?
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Complete each question without a calculator.

4x5 108 + 9 2x13 65+5
9x8 72+6 3x12 2+2
7x2 35+5 1x7 8+4
12x11 40+8 6x 12 25+5
10x9 28+ 4 8x5 56+8
13x3 66+ 11 5x12 77+ 11
2x12 144 + 12 15x2 117+9
4x6 36+2 3x20 132+12
7x8 45+ 5 2x18 169 x 13
2x11 99+ 9 3x4 156 + 12
9x7 120 + 10 Lxb 35+7
11x9 84+6 0x5 42+6
8x4 96+ 8 2x6 54+9
12x9 48+6 3x9 63+7
5x6 49+7 7 %12 48+ 4
x4 21+3 13 x 11 30+5
3x8 16 +2 10 % 9 40 + 10
9x6 12+4 15 x 10 88+8
8x1 15+5 13 x4 130 + 10
0x7 60 + 12 2x14 121+ 11

g s2er 10 PR— ]
7





image8.png
grange’s Four-Sq Theorem

Instructions
Lagrange's theorem states that every positive integer can be made by adding four square numbers.
For example, 7 is made by 2% + 12 + 12+ 12 (or 4 + 1 + 1 + 1)

Your task is to find eight different ways to make 214 using Lagrange's theorem.
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Maths Word Se

This word search contains twenty-five words related
to Maths

How many can you find?
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Colour by Number

Instructions

=
Calculate each answer e 126+ 270 2507+ 8 8 189.6 + 112
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he Value of Words

Instructions

Use the key to calculate the value of each word, in pounds. The first question has been completed for you.

50p |£1.03|20.62|£0.15| 10p | 72p | 22p [£0.15|20.08|21.21|22.50|£1.08| 42p |£0.78(20.05|21.65(£3.00| 45p | 68p |£0.18| 95p |20.27|21.11|21.85| 2205|2288

Onumeer £0.78 + 95p + 42p + £1.03 + 10p + 45p = £3.73
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